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AP60/AP60W 1518 9:30~10:45 2518F 11:40~12:55
Efr| S8 | 5T BE| & EF4A i 1 2 3 4 5 6 |[XEB&| §
1 1 7 | M| FHA EN B 92 95 96 91 92 93 14 | 559
2 | 2 4 | M XZE R RIRE 89 92 91 91 92 86 12 | 541
3| 2 6 |M| #E K3 =LA 89 93 89 92 83 89 3 535
4 | 1 3 | M| EE BAxE TR 90 92 85 85 85 89 5 526
5| 2 8 | M| FH&B xF RE 87 84 87 84 86 90 8 518
6 1 5 | M we £ TR 84 81 89 86 87 87 6 514
71 2 5 |W| FEF & E 84 84 82 88 87 86 6 511
8 | 2 3 |M| FHH % RIRE 86 81 83 77 87 83 3 497
9 | 2 7 | M| TEEE E— RIRE 80 82 80 77 90 83 2 492
HR40 158 9:30~10:30
Efr| S8 | 5T EE| & EF4A il 1 2 3 4 |XB&E| §
1 2 2 | M| % ERR TR 86 80 82 75 3 323
AR60/AR60W 1518 9:30~10:45 2518F 11:40~12:55
IEf| 8% | 5T EE| & EF4 & 1 2 3 4 5 6 |[XEB&| F
1 2 16 | M MEF = RIBE 102.6 | 103.1 | 104.4 | 1045 | 103.7 | 104.1 | 47 |622.4
2 | 1 14 |W| UK FEE s 102.2 | 104.5 | 102.8 | 101.0 | 103.9 {1030 | 38 |617.4
3| 2 14 |W| =l XF ¥ 102.2 [ 101.7 | 103.4 | 103.0 | 101.3 | 1035 | 38 |615.1
4 | 1 10 |[M| KA #®A $E 102.8 [ 103.2 | 103.5 [ 102.5 | 101.6 | 101.1 | 35 |614.7
5 | 1 15 | M| /I #k sk Bk 104.2 [ 100.5 | 102.4 [ 100.8 | 996 | 96.0 | 30 |603.5
6 1 16 |W| FEHA HEE =R 98.8 | 989 | 99.0 | 998 | 999 |1024 | 22 |5988
7 1 13 |M| 8RE HEZMm KR 100.8 | 100.1 |101.8 | 98.8 | 98.4 | 970 | 23 |596.9
8 | 2 13 | W| ithE #Hm KR 98.8 |101.1 |101.7 | 97.0 | 99.9 | 982 | 24 |[596.7
9 1 11 | M " EE KR 97.7 |101.0 | 98.7 | 99.1 | 965 | 1009 | 26 |[593.9
10| 2 17 |W| BHA BF =R 99.8 | 96.9 |100.0 | 965 | 93.0 | 986 | 16 |5848
11| 2 15 |M| #H #F =R 924 | 951 | 953 | 950 | 958 | 946 | 16 |568.2
E—LHEHIRE+RE]
BP60J/BP60WJ 1518 9:25~10:10 2518 10:40~11:25
IEf| S8 | 5T EE| & EF4 & 1 2 3 4 5 6 |XBH| §
1 1 25 | M| R =R 91 89 84 87 94 92 8 537
BR60J/BR60WJ 1518 9:25~10:10 2518 10:40~11:25
NEfr|) 548F | 5 RE| 1% EF4 & 1 2 3 4 5 6 | XB=R| §
1 2 22 | W B S =R 101.3 | 102.9 | 101.8 | 102.9 | 101.6 | 102.0 | 12 |6125
2 1 21 |W| K&F HE =R 85.1 | 850 | 847 | 84.8 | 939 | 99.1 2 |5326
3 1 20 |W| EE 0b =R 772 | 802 | 91.2 | 88.1 | 86.3 | 92.0 0 |515.0
50mERE (AR H - /K]
FR3P/R3P 158 9:40~11:10 2518 11:50~13:20
IEf| S8 | 5T EE| & EF4 & K1 K2 P1 P2 St S2 | XEs| F
1 1 15 |wW| WWHE #BF |E¥XT3avsI)IL—7 960 | 950 | 970 | 99.0 | 96.0 | 900 | 20 | 573
2 1 19 |M| ZFH BXK |[tFiavsiL—7] o 96 95 99 90 93 20 | 564
3 2 16 | W g EE e 94 94 99 94 88 90 15 | 559
4 | 1 21 | M g & KR 93 95 91 96 90 88 15 | 553
FR60PR/R60PR 158 9:40~10:30 2518F 11:50~12:40
IBf| GT8% | 5T EE| & EF4 & 1 2 3 4 5 6 |[XE=| §
1 1 5 | M ME = RIBE 102.6 | 103.2 | 102.1 | 103.2 [101.6 [101.3 | 32 |614.0
2 2 14 | M| BHEFE &3] HER 102.3 | 102.5 | 99.8 |101.7 | 100.8 |103.8 | 30 |610.9
3| 2 8 | M mE & KR 100.3 | 101.3 | 100.9 | 101.2 | 104.4 | 100.3 | 27 |608.4
4 | 1 7 [ M| BX BE KR 102.6 | 100.7 | 100.8 | 1005 | 99.6 | 101 23 |605.2
5 1 11 | M| JIUA B3k KR 99.2 | 999 | 98.7 | 988 |102.5|100.8 | 14 |[599.9
6 1 13 |M| XH H#F KR 985 | 999 | 982 | 958 | 996 | 996 | 15 |591.6
7 1 3 | M Bl B KR 979 | 977 | 985 | 982 | 920 |89.7 | 12 |5740
8 | 2 4 |M| XE BE KR 92.3 | 970 | 926 | 92.0 | 991 | 954 | 12 |568.4
9 1 9 | M| HBEH BXR KR 101.4 | 906 | 97.8 | 92.2 | 978 | 884 8 |568.2
10| 2 12 |M| B FIT KR 905 | 946 | 935 | 967 | 932 | 978 | 11 |566.3
11| 2 6 | M| W {E— I E 951 | 952 | 97.7 | 971 | 920 | 884 | 11 |5655
12| 2 10 | M KE EE KR 942 | 945 | 91.3 | 929 | 90.1 | 96.1 5 |559.1
FR60PRSC ({&:E) 1518 9:40~10:30
IBf| S8 | 5T EE| & EF4 & 1 2 3 4 5 6 |XBH| §
1 1 24 |M| FM #ZiE KR 97.3 | 995 | 96.4 |100.6 |100.7 |100.1 | 15 |594.6




